A2

T E A

THEE= H25#% T #5575 s 2,577, 750
(A #)
T HF 4 |mEhyfeilscE (GBsE) LH
AMMLA B | JEE254E5H30H OK) | AFLECEfi A% 2, 455, 000H
S THE R L O

ANFLIR E5E 2122, 000H it 106, 100H
ZAEIR x FH 4 1A fir =

O |BERAIE 2,122, 000 |%FL

()= th T2 2,280, 000

O |&EHEBZHISE LR 2,340, 000/

O |WRstEs 2,360, 000/

O |EFs5®EIEFrEELZF| 2, 350, 000H

wH | AN L 4 ¥ E 5/# | AN KL = N F 5t




A2

T E A

THEE= H25 7% T #5675 s 2, 549, 400
(A #)
T #= 4 |[mEhyeilsE (GEes) LH
AMMLA B | JEE254E5H30H OK) | AFLECEfi A% 2, 428, 000
S THE R L O
AFLIR E%E 2, 240, O00H T B 112, 000H
ZAEIR x FH 4 ;- lE| fir =
ERAT % ERIES
()= th T2 2,240, 000 | FL
O |EHERMMEE LR 2,310, 000
O |BmFEs 2,331, 000
O |BEFSFRBIEFRAEEZR| 2, 330, 000H
wH | AN L 4 ¥ E 5/# | AN KL = N F 44t




